

Some Finite Integrals Involving Srivastava's Polynomials and the Aleph Function

ALOK BHARGAVA*

Department of Mathematics, Jaipur Engineering College and Research Centre, Jaipur(Raj.), India

e-mail: alokbhargava2003@yahoo.co.in

AMBER SRIVASTAVA AND ROHIT MUKHERJEE

Department of Mathematics, Swami Keshvanand Institute of Technology, Management and Gramothan, Jaipur(Raj.), India

e-mail: prof.amber@gmail.com and rohit@skit.ac.in

ABSTRACT. In this paper, we establish certain integrals involving Srivastava's Polynomials [5] and Aleph Function ([8], [10]). On account of general nature of the functions and polynomials involved in the integrals, our results provide interesting unifications and generalizations of a large number of new and known results, which may find useful applications in the field of science and engineering. To illustrate, we have recorded some special cases of our main results which are also sufficiently general and unified in nature and are of interest in themselves.

1. Introduction

The Aleph function, introduced by Süddland et al. ([8]; see also [10]), is defined in terms of Mellin Barnes type integrals as:

$$\aleph [z] = \aleph_{p_i, q_i, \tau_i; r}^{m, n} \left\{ z \left| \begin{array}{l} (a_j, A_j)_{1, n}; [\tau_i (a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i (b_{ji}, B_{ji})]_{m+1, q_i; r} \end{array} \right. \right\}$$

$$(1.1) \quad = \frac{1}{2\pi\omega} \int_L \Omega_{p_i, q_i, \tau_i; r}^{m, n}(s) z^{-s} ds$$

* Corresponding Author.

Received August 2, 2014; revised March 5, 2015; accepted November 3, 2015.

2010 Mathematics Subject Classification: 33C45, 33C60.

Key words and phrases: Aleph Function, Srivastava's Polynomials, Jacobi Polynomials.

where $\omega = \sqrt{-1}$ and

$$(1.2) \quad \Omega_{p_i, q_i, \tau_i; r}^{m, n}(s) = \frac{\prod_{j=1}^m \Gamma(b_j + B_j s) \prod_{j=1}^n \Gamma(1 - a_j - A_j s)}{\sum_{i=1}^r \tau_i \prod_{j=m+1}^{q_i} \Gamma(1 - b_{ji} - B_{ji} s) \prod_{j=n+1}^{p_i} \Gamma(a_{ji} + A_{ji} s)}$$

The integration path $L = L_{\omega\gamma\infty}$, $\gamma \in \Re$ extends from $\gamma - \omega\infty$ to $\gamma + \omega\infty$, and is such that the poles of $\Gamma(1 - a_j - A_j s)$, $j = 1, \dots, n$, do not coincide with the poles of $\Gamma(b_j + B_j s)$, $j = 1, \dots, m$. The parameters p_i and q_i are non-negative integers satisfying the conditions $0 \leq n \leq p_i$, $0 \leq m \leq q_i$, $\tau_i > 0$ for $i = 1, \dots, r$. Also, $A_j, B_j, A_{ji}, B_{ji} > 0$ and $a_j, b_j, a_{ji}, b_{ji} \in C$. An empty product in (2) is interpreted as unity. The existence conditions for (1) are:

$$(1.3) \quad \varphi_i > 0, |\arg z| < \frac{\pi}{2} \varphi_i \quad ; \quad i = 1, \dots, r$$

$$(1.4) \quad \varphi_i \geq 0, |\arg z| < \frac{\pi}{2} \varphi_i \quad \text{and} \quad \Re\{\zeta_i\} + 1 < 0$$

where

$$(1.5) \quad \varphi_i = \sum_{j=1}^n A_j + \sum_{j=1}^m B_j - \tau_i \left(\sum_{j=n+1}^{p_i} A_{ji} + \sum_{j=m+1}^{q_i} B_{ji} \right)$$

$$(1.6) \quad \zeta_i = \sum_{j=1}^m b_j - \sum_{j=1}^n a_j + \tau_i \left(\sum_{j=m+1}^{q_i} b_{ji} - \sum_{j=n+1}^{p_i} a_{ji} \right) + \frac{1}{2} (p_i - q_i) \quad ; \quad i = 1, \dots, r$$

The Srivastava's Polynomials [5] occurring in the present paper is defined as:

$$(1.7) \quad S_{n_1, n_2, \dots, n_\lambda}^{m_1, m_2, \dots, m_\lambda}[x] = \sum_{l_1=0}^{[n_1/m_1]} \sum_{l_2=0}^{[n_2/m_2]} \dots \sum_{l_\lambda=0}^{[n_\lambda/m_\lambda]} \prod_{g=1}^\lambda \frac{(-n_g)_{m_g l_g}}{l_g!} A_{n_g, l_g} x^{l_g}$$

where n_g & m_g ($g = 1, 2, \dots, \lambda$) are arbitrary positive integers and the coefficients A_{n_g, l_g} ($n_g, l_g \geq 0$) are arbitrary constants, real or complex. For the present study, we shall require the following results due to [3] and [1] respectively, pertaining to the Jacobi Polynomials $P_\eta^{(\alpha, \beta)}(x)$ [2]:

$$(1.8) \quad P_\mu^{(\alpha, \beta)}(t+y) P_\mu^{(\alpha, \beta)}(t-y) = \frac{(-1)^\mu (1+\alpha)_\mu (1+\beta)_\mu}{(\mu!)^2} \times \sum_{\eta=0}^\mu \frac{(-\mu)_\eta (1+\alpha+\beta+\mu)_\eta}{(1+\alpha)_\eta (1+\beta)_\eta} P_\eta^{(\alpha, \beta)}(x) t^\eta$$

and

$$(1.9) \quad \frac{1}{y}(1-t+y)^{-\alpha}(1-t+y)^{-\beta} = 2^{-\alpha-\beta} \sum_{\eta=0}^{\infty} P_{\eta}^{(\alpha,\beta)}(x) t^{\eta}$$

where

$$(1.10) \quad y = (1 - 2xt + t^2)^{1/2}$$

2. Main Integrals

In this section, we establish the following three integrals:

First Integral

$$\begin{aligned} I_1 &= \int_0^t (1-x)^{\rho-1}(1+x)^{\sigma-1} S_{n_1, n_2, \dots, n_{\lambda}}^{m_1, m_2, \dots, m_{\lambda}} [w(1-x)^u(1+x)^v] \\ &\times \aleph_{p_i, q_i, \tau_i; r}^{m, n} \left\{ z(1-x)^h(1+x)^k \left| \begin{matrix} (a_j, A_j)_{1, n}; [\tau_i (a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i (b_{ji}, B_{ji})]_{m+1, q_i; r} \end{matrix} \right. \right\} dx \\ &= 2^{\rho+\sigma-1} \sum_{l_1=0}^{[n_1/m_1]} \sum_{l_2=0}^{[n_2/m_2]} \dots \sum_{l_{\lambda}=0}^{[n_{\lambda}/m_{\lambda}]} \prod_{g=1}^{\lambda} \frac{(-n_g)_{m_g l_g}}{l_g!} A_{n_g, l_g} w^{l_g} 2^{(u+v)l_g} \\ (2.11) \quad &\times \aleph_{p_i+2, q_i+1, \tau_i; r}^{m, n+2} \left\{ z^{2(h+k)} \left| \begin{matrix} (1-\rho-ul_g, h), (1-\sigma-vl_g, k), (a_j, A_j)_{1, n}; [\tau_i (a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i (b_{ji}, B_{ji})]_{m+1, q_i; r}, (1-\rho-\sigma-(u+v)l_g, h+k) \end{matrix} \right. \right\} \end{aligned}$$

The above integral converges under the conditions (3), (4) and (i) $\rho \geq 1, \sigma \geq 1; u \geq 0, v \geq 0; h \geq 0, k \geq 0$ (Not both h and k be zero simultaneously)
 (ii) $Re(\rho) + h \min \left[Re \left(\frac{b_j}{B_j} \right) \right] > 0$ and (iii) $Re(\sigma) + k \min \left[Re \left(\frac{b_j}{B_j} \right) \right] > 0$

Proof. On using the representations (1.1) and (1.7) in the left hand side of the integral (1.11), and then on interchanging the order of summations and the s - integral, we get

$$\begin{aligned} I_1 &= \int_0^t (1-x)^{\rho-1}(1+x)^{\sigma-1} \\ &\times \left\{ \frac{1}{2\pi\omega} \int_L \Omega_{p_i, q_i, \tau_i; r}^{m, n}(s) z^{-s} (1-x)^{-hs} (1+x)^{-ks} ds \right. \\ &\left. \times \sum_{l_1=0}^{[n_1/m_1]} \sum_{l_2=0}^{[n_2/m_2]} \dots \sum_{l_{\lambda}=0}^{[n_{\lambda}/m_{\lambda}]} \prod_{g=1}^{\lambda} \frac{(-n_g)_{m_g l_g}}{l_g!} A_{n_g, l_g} [w(1-x)^u(1+x)^v]^{l_g} \right\} dx \end{aligned}$$

Now, on interchanging the order of x- and s- integrals, which is permissible under the conditions stated, and then on using [7], p. 314, eqn. (3) we easily arrive at the desired result after a little simplification. □

To establish the second and third integrals we use the following Lemma derived from (2.11):

Lemma Under the conditions derived from those stated with (1.11), the following integral formula holds:

$$\begin{aligned}
 & \int_{-1}^1 (1-x)^{\rho-1} (1+x)^{\sigma-1} P_{\eta}^{(\alpha, \beta)}(x) \\
 & \times \aleph_{p_i, q_i, \tau_i; r}^{m, n} \left\{ z(1-x)^h (1+x)^k \left| \begin{array}{l} (a_j, A_j)_{1, n}; [\tau_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{array} \right. \right\} dx \\
 & = 2^{\rho+\sigma-1} \sum_{l=0}^{\eta} \frac{(-\eta)_l}{l!} \binom{\eta + \alpha}{\eta} \frac{(\alpha + \beta + \eta + 1)_l}{(\alpha + 1)_l} \\
 (2.12) \quad & \times \aleph_{p_i+2, q_i+1, \tau_i; r}^{m, n+2} \left\{ z.2^{(h+k)} \left| \begin{array}{l} (1-\rho-l, h), (1-\sigma, k), (a_j, A_j)_{1, n}; [\tau_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i(b_{ji}, B_{ji})]_{m+1, q_i; r}, (1-\rho-\sigma-l, h+k) \end{array} \right. \right\}
 \end{aligned}$$

Proof. On setting $\lambda = 1, n_1 = \eta; m_1 = 1; \omega = \frac{1}{2}; u = 1, v = 0$ and $A_{\eta, l} = \binom{\eta + \alpha}{\eta} \frac{(\alpha + \beta + \eta + 1)_l}{(\alpha + 1)_l}$ in (11), the Srivastava’s polynomial occurring therein reduces to $S_{\eta}^1 \left[\frac{1-x}{2} \right]$, which in view of [4, p. 68, eq. (4.3.2)] is expressed in terms of Jacobi Polynomials. Then, after a little simplification, we readily arrive at (1.12).□

Second Integral

$$\begin{aligned}
 I_2 & = \int_{-1}^1 (1-x)^{\rho-1} (1+x)^{\sigma-1} P_{\mu}^{(\alpha, \beta)}(t+y) P_{\mu}^{(\alpha, \beta)}(t-y) \\
 & \times \aleph_{p_i, q_i, \tau_i; r}^{m, n} \left\{ z(1-x)^h (1+x)^k \left| \begin{array}{l} (a_j, A_j)_{1, n}; [\tau_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{array} \right. \right\} dx \\
 & = 2^{\rho+\sigma-1} \frac{(-1)^{\mu} \Gamma(1 + \alpha + \mu) \Gamma(1 + \beta + \mu)}{(\mu!)^2} \\
 & \times \sum_{\eta=0}^{\mu} \sum_{l=0}^{\eta} \frac{(-\mu)_{\eta} (1 + \alpha + \beta + \mu)_{\eta}}{\Gamma(1 + \alpha + \eta) \Gamma(1 + \beta + \eta)} \frac{(-\eta)_l}{l!} \binom{\eta + \alpha}{\eta} \frac{(\alpha + \beta + \eta + 1)_l}{(\alpha + 1)_l} \\
 (2.13) \quad & \times \aleph_{p_i+2, q_i+1, \tau_i; r}^{m, n+2} \left\{ z.2^{(h+k)} \left| \begin{array}{l} (1-\rho-l, h), (1-\sigma, k), (a_j, A_j)_{1, n}; [\tau_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i(b_{ji}, B_{ji})]_{m+1, q_i; r}, (1-\rho-\sigma-l, h+k) \end{array} \right. \right\}
 \end{aligned}$$

The integral (2.13) converges under the conditions derived from those mentioned with (2.11).

Proof. We use (1.8) in the LHS of (2.13) and then interchange the order of summation and integration in the expression so obtained. Now by virtue of the Lemma we readily arrive at the desired result. □

Third Integral

$$\begin{aligned}
 I_3 &= \int_{-1}^1 (1-x)^{\rho-1} (1+x)^{\sigma-1} \frac{1}{y} (1-t+y)^{-\alpha} (1+t+y)^{-\beta} \\
 &\times \aleph_{p_i, q_i, \tau_i; r}^{m, n} \left\{ z(1-x)^h (1+x)^k \left| \begin{array}{l} (a_j, A_j)_{1, n}; [\tau_i (a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i (b_{ji}, B_{ji})]_{m+1, q_i; r} \end{array} \right. \right\} dx \\
 &= 2^{-\alpha-\beta+\rho+\sigma-1} \sum_{\eta=0}^{\mu} \sum_{l=0}^{\eta} \frac{(-\eta)_l}{l!} \binom{\eta+\alpha}{\eta} \frac{(\alpha+\beta+\eta+1)_l}{(\alpha+1)_l} \\
 (2.14) \quad &\times \aleph_{p_i+2, q_i+1, \tau_i; r}^{m, n+2} \left\{ z.2^{(h+k)} \left| \begin{array}{l} (1-\rho-l, h), (1-\sigma, k), (a_j, A_j)_{1, n}; [\tau_i (a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i (b_{ji}, B_{ji})]_{m+1, q_i; r}, (1-\rho-\sigma-l, h+k) \end{array} \right. \right\}
 \end{aligned}$$

The integral (2.14) converges under the conditions derived from those mentioned with (2.11).

Proof. We use (1.9) in the LHS of (2.14) and then interchange the order of summation and integration in the expression so obtained. Now by virtue of the Lemma we readily arrive at the desired result. \square

3. Special Cases

(i) On taking $\lambda = 1$ in (2.11), we get the following integral in terms of General class of polynomials $S_n^m[x]$ [5]:

$$\begin{aligned}
 I_4 &= \int_0^t (1-x)^{\rho-1} (1+x)^{\sigma-1} S_n^m[w(1-x)^u (1+x)^v] \\
 &\times \aleph_{p_i, q_i, \tau_i; r}^{m, n} \left\{ z(1-x)^h (1+x)^k \left| \begin{array}{l} (a_j, A_j)_{1, n}; [\tau_i (a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i (b_{ji}, B_{ji})]_{m+1, q_i; r} \end{array} \right. \right\} dx \\
 &= 2^{\rho+\sigma-1} \sum_{l=0}^{[n/m]} \frac{(-n)_{ml}}{l!} A_{n, l} w^l 2^{(u+v)l} \\
 (3.15) \quad &\times \aleph_{p_i+2, q_i+1, \tau_i; r}^{m, n+2} \left\{ z2^{(h+k)} \left| \begin{array}{l} (1-\rho-ul, h), (1-\sigma-vl, k), (a_j, A_j)_{1, n}; [\tau_i (a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}; [\tau_i (b_{ji}, B_{ji})]_{m+1, q_i; r}, (1-\rho-\sigma-(u+v)l, h+k) \end{array} \right. \right\}
 \end{aligned}$$

The integral (3.15) converges under the conditions derived from those mentioned with (2.11).

(ii) On setting $\tau_i = 1$ and $r = 1$ in the main integrals, we obtain the following three integrals in terms of Fox's H-Function [6].

$$I_5 = \int_0^t (1-x)^{\rho-1} (1+x)^{\sigma-1} S_{n_1, n_2, \dots, n_\lambda}^{m_1, m_2, \dots, m_\lambda} [w(1-x)^u (1+x)^v]$$

$$\begin{aligned}
& \times H_{p,q}^{m,n} \left\{ z(1-x)^h(1+x)^k \left| \begin{array}{l} (a_j, A_j)_{1,p} \\ (b_j, B_j)_{1,q} \end{array} \right. \right\} dx \\
& = 2^{\rho+\sigma-1} \sum_{l_1=0}^{[n_1/m_1]} \sum_{l_2=0}^{[n_2/m_2]} \cdots \sum_{l_\lambda=0}^{[n_\lambda/m_\lambda]} \prod_{g=1}^{\lambda} \frac{(-n_g)_{m_g l_g}}{l_g!} A_{n_g, l_g} w^{l_g} 2^{(u+v)l_g} \\
(3.16) \quad & \times H_{p+2,q+1}^{m,n+2} \left\{ z.2^{(h+k)} \left| \begin{array}{l} (1-\rho-ul_g, h), (1-\sigma-vl_g, k), (a_j, A_j)_{1,p} \\ (b_j, B_j)_{1,q}, (1-\rho-\sigma-(u+v)l_g, h+k) \end{array} \right. \right\}
\end{aligned}$$

$$\begin{aligned}
I_6 & = \int_{-1}^1 (1-x)^{\rho-1} (1+x)^{\sigma-1} P_{\mu}^{(\alpha, \beta)}(t+y) P_{\mu}^{(\alpha, \beta)}(t-y) \\
& \times H_{p,q}^{m,n} \left\{ z(1-x)^h(1+x)^k \left| \begin{array}{l} (a_j, A_j)_{1,p} \\ (b_j, B_j)_{1,q} \end{array} \right. \right\} dx \\
& = 2^{\rho+\sigma-1} \frac{(-1)^{\mu} \Gamma(1+\alpha+\mu) \Gamma(1+\beta+\mu)}{(\mu!)^2} \\
& \times \sum_{\eta=0}^{\mu} \sum_{l=0}^{\eta} \frac{(-\mu)_{\eta} (1+\alpha+\beta+\mu)_{\eta}}{\Gamma(1+\alpha+\eta) \Gamma(1+\beta+\eta)} \frac{(-\eta)_l}{l!} \binom{\eta+\alpha}{\eta} \frac{(\alpha+\beta+\eta+1)_l}{(\alpha+1)_l}
\end{aligned}$$

$$(3.17) \quad \times H_{p+2,q+1}^{m,n+2} \left\{ z.2^{(h+k)} \left| \begin{array}{l} (1-\rho-l, h), (1-\sigma, k), (a_j, A_j)_{1,p} \\ (b_j, B_j)_{1,q}, (1-\rho-\sigma-l, h+k) \end{array} \right. \right\}$$

and

$$\begin{aligned}
I_7 & = \int_{-1}^1 (1-x)^{\rho-1} (1+x)^{\sigma-1} \frac{1}{y} (1-t+y)^{-\alpha} (1+t+y)^{-\beta} \\
& \times H_{p,q}^{m,n} \left\{ z(1-x)^h(1+x)^k \left| \begin{array}{l} (a_j, A_j)_{1,p} \\ (b_j, B_j)_{1,q} \end{array} \right. \right\} dx \\
& = 2^{-\alpha-\beta+\rho+\sigma-1} \sum_{\eta=0}^{\mu} \frac{(-\eta)_l}{l!} \binom{\eta+\alpha}{\eta} \frac{(\alpha+\beta+\eta+1)_l}{(\alpha+1)_l}
\end{aligned}$$

$$(3.18) \quad \times H_{p+2,q+1}^{m,n+2} \left\{ z.2^{(h+k)} \left| \begin{array}{l} (1-\rho-l, h), (1-\sigma, k), (a_j, A_j)_{1,p} \\ (b_j, B_j)_{1,q}, (1-\rho-\sigma-l, h+k) \end{array} \right. \right\}$$

Integrals (16), (17) and (18) converges under the conditions derived from those mentioned with (11), (13) and (14) respectively.

(iii) On taking $\tau_i = 1$ in the main integrals, we get the results due to Agarwal et al. [9].

On account of being general and unified in nature, the results established here yield a large number of known and new results involving simpler functions on suitable specifications of the parameters involved.

Acknowledgments. Authors are thankful to the referee for the valuable comments and suggestions, which have led the paper to the present form.

References

- [1] P. Agarwal, S. Jain, and M. Chand, *Finite integrals involving Jacobi Polynomials and I-Function*, Theoretical Mathematics & Applications, **1(1)**(2011), 115-123.
- [2] F. Brafman, *Generating functions of Jacobi and related polynomials*, Proc. Amer. Math. Soc., **2**(1951), 942-949.
- [3] A. Erdelyi, W. Magnus, F. Oberhettinger and F. G. Tricomi, *Higher Transcendental Functions*, Vol. 2, Mcgraw Hill, New York, (1953).
- [4] I. S. Gradshteyn and I. M. Ryzhik, *Table of integrals, Series and Products*, 6/e, Academic Press, New Delhi, (2001).
- [5] E. D. Rainville, *Special Functions*, Chelsea Publication Company, Bronx, New York, (1971).
- [6] R. K. Saxena, T. K. Pogany, *Mathieu type series for the \aleph - Function occurring in Fokker – Planck equation*, Eur. J. Pure Appl. Math., **3(6)**(2010), 980-988.
- [7] N. Südland, B. Baumann and T. F. Nonnenmacher, *Open Problem: Who knows about the Aleph (\aleph)-Functions?*, Fract. Calc. Appl. Anal., **1(4)**(1998), 401-402.
- [8] H. M. Srivastava, *A multilinear generating function for the Konhauser sets of biorthogonal Polynomials suggested by the Laguerre polynomials*, Pacific J. Math., **117** (1985), 183-191.
- [9] H. M. Srivastava, K. C. Gupta and S. P. Goyal, *The H-function of one and two variables with applications*, South Asian publishers, New Delhi and Madras, (1982).
- [10] G. Szego, *Orthogonal polynomials*, Amer. Math. Soc. Colloq. Publ., Vol. 23, 4th Ed., Amer. Math. Soc., Providence, Rhode Island, (1975).